e AZZAE WA
)
AFA U < A5 ArEU S 2017 (A) | 20161 (B) Z(A-B)

A 1,180,917 1,062,188 118,729
1,180,917 1,062,188 118,729
710,134 641,443 68,691
&85 x 9 710,134 641,443 68,691
E DR RS 710,134 641,443 68,691
BAFEITA Y 710,134 641,443 68,691
1. 588522 0989 373,342 338,336 35,006

7k HEo @A =l A A 48,300

1) 2991 48,300

7h A1H] 310-01 |7,0009 x 2507 X 44] X 67]= 42,000

h 7-21n) 310-01 |3,0009x250% X 13] X67]= 4,500

h Je= 210-01 |50,000€9 X6&%x67]= 1,800

U, A= b s kA 8 4,950

1) £99n 4,950

71 21H] 310-01 |7,0009 x150% x 44 = 4,200

) 7+AlH| 310-01 |3,0009 x150% x 18] = 450

o £ 8% 210-01 |50,0009 x6%F= 300

th Froprh=a drd w Al 10,560

1) 98 210-01 |50,0009 Xx5F x 47 = 1,000

2) Z3Aky] 9,560

71 ARPEAFCGAE) 5,160

1) 718 310-01 160,000 X 3% X 1A 7k x 4= 1,920

2) =¥ 310-01 [90,000¢ X 37 X 3A| 7k x 4ul= 3,240

W) I2E57A 4,400

1) 71& 310-01 |500,0009 X128 X 1 A3k X 41= 2,000

(2) =7} 310—01 [50,0009 x4 X 3A]3k X 43 = 2,400

2 25t u g A w 4,500

1 =94 4,500

7H 7+AH] 310-01 |3,0009x1,500% = 4,500

o}, =@ A AR A ] 199,857

1) 7124 110-02 |1,787,6709x5W x12¢¥= 107,261

2) 2L 110-02 [11,8309 x5 X 48412k x 102 = 28,392
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7187 - At et E o dd (Sl @ H9)
)] [e) )=}

Bopnm f} ij ?};3 ﬂg NERE = = 20179 (A) | 2016¥(B) | Z7(A-B)
3) WE K ZH| 110-02 60,0009 x5 x 129 = 3,600
4) V=S 110-02 [310,0009x129= 3,720
5 HAZ 320—04 2,948,9809 x5% = 14,745
6) Az} 110-02 |63,1309x58%U= 3,662
7) A7 R IMAE 110-02 |70,0009 x5 x129= 4,200
8) A shH] 4o 110-02 |385,6409 X 27 X 4%7]= 3,086
9) 2] 110—02 |80,0009 x5 x12¢9= 4,800
10) A7 o+ 110-02 250,000 x57 x 23] = 2,500
11) WAF 7] 110-02 |500,000¢ X 5% x 23] = 5,000
12) 23] 2 2)n) 110—-02 [400,0009 X 5% X 13]= 2,000
13) A 320-04 |166,220,2009 X 4.5%= 7,480
14) A7}R3 320—04 166,220,200¢] X 3.06%= 5,087
15) w=¢1&7] ek & 320-04 |5,087,0009 X6.55%= 334
16) 714123 320-04 |166,220,2009 X 1.5%= 2,494
17) AR 38 320-04 |166,220,2009 X0.9%= 1,496

TS S =R Ry 10,605
1) wSA A 210-01 |6,5009 X 250%= 1,625
2) ns ek 210-01 |6,0009 X 300%-= 1,800
3) AA (EA) L 210-01 |10,000€] X 550%= 5,500
4) YH-RE A 210—01 6,0009 X 704 x 43]= 1,680
Ab FRANSEFTYL A 94,570
1) LA S EF 28,760
7h w925 210-03 |250,0009 x 14 x 28] = 7,000
) w52 etz 210-03 |120,0009 x 144 x 23] = 3,360
o} StASTH S L= 210-01 |100,0009 X 15%F x43]= 6,000
2} BAIALE 210-01 |20,0009] x 147 x 407]= 11,200
) 7SLE AN 430—01 300,000¢ x 4= 1,200
2) TYEE 15,600
7H FY9EE(FYES) 210-15 (90,0009 X 160X E= 14,400
W) A EA ] E 210-03 |300,0009 x4 E= 1,200
3) vhrhe) = H 7,400
7Y IHFRESFA 210-09 100,000€ X 20t]= 2,000
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2/11




R A R L Tt (4] 1 9)
FE] 9 RE .
Heln . S il T 2 o] A=t [~ A= o3 19 2] =7F(A—
Bopnm e e 4 e = A o 2017 (A) | 2016 (B) 54 (A-B)
Lp) ZlubA <ul =g 210-15 200,0009 % 35]= 600
h FH7]1E 210-15 |50,000¢ x 4] x 33]= 600
) RELIASR 210-10 |10,0004€ x 3] x 407] = 1,200
) RE|HESFA 210-09 [100,0009 x5t} x 43 = 2,000
Hp) oo} & 430-01 |1,000,000€ x 1tf= 1,000
4) E_ng_lll:_/\i 19,950
7hH FEeEER AR E 210-01 [100,0009 X 25% x 23] = 5,000
) A ofulok 210—01 |40,000¢ X 20%F x23]= 1,600
th 47192 8,100
(1) AF71L91) 210-15 |40,0009x 150 x 128] = 7,200
(2) AF71F=AHA 210-01 15,0009 x 15t x 43]= 900
2} W A= 210-15 |450,000¢ x 63]= 2,700
b)) EA9) 210-01 10,0009 %1009 = 1,000
o) A RS D SH AR 750
(1) 71& 310—-01 190,000 X 1A1ZF x 33] = 570
(2) =3} 310-01 |60,000¢ x 1Ak x 38| = 180
A A A SE 800
(1) 7\ 430-01 |400,000¢ x 1= 400
(2) FREAATEZA7) 430-01 |400,000€ x 1th= 400
5) #ag ol 15,290
7h oz 210—15 12,5009 X 407]= 500
W) A A L 2 5y A 210-09 100,000 X 10F x 28] = 2,000
th #agelol A% 210-01 |40,0009 X 10% x 28] = 800
2h) A A S g A o o] A ] -4 11,990
(1) AFE 430-01 |900,00049 x 1t}= 900
(2) NA = E 430-01 |250,0009 x 1t)= 250
(3) RUE (52¢1x] AX ) £3}) 430-01 2,370,0009 x 2= 4,740
(4) vE=R 430-01 1,300,000 x 1t= 1,300
(5) Hola =t 430-01 |72,0009 X507 = 3,600
(6) ZAHLAANY 430-01 |600,000¢ x 2= 1,200
6) &=l 7,570
7h SR AEA M =] 430-01 [660,000¢ x 2= 1,320
W& - ForlET RS - AF-SFEEA Y - FAUSAEE - FAFALEA Y 3/11




718 AR s grdd (9] - A
=] 2 o H
pohyy 1S3 ?};3 ﬂg NERE = = 20179 (A) | 2016¥(B) | Z7(A-B)
) oy (mh] ) 430-01 |425,0009 x 10t]= 4,250
o AH A EdE 2,000
(1) WE 210-15 20,0009 x 107}= 200
(2) A= 210—15 17,0009 x100%= 1,700
(3) LdFAHAXA 210-15 20,0009 x 54#= 100
2. EHgETg 738z 336,792 303,107 33,685
MR E R 6,240
1) sfFransgday o) s) 230-02 |3,00091 %21 x407]= 240
2) & WAL 9 3 230-02 |5,0009 x 12 x407]= 2,400
3) FHE TS TER Y 3 230-02 |15,0009 x 15 x 53] = 1,125
4) FHWSEZZ 7| 2] 3 230—02 15,0009 x15% x 53] = 1,125
5) A7 71 o) 3 230-02 |30,0009 X 15 x 33 = 1,350
a7 93] o -9 700
1) A=A w9 WSl ) 210-01 |350,000¢ x 23]= 700
oh 142 AR A A F A 9,850
D) w573m] 7,600
7H 252 ¥ 210-01 [100,0009 X147 x 43]= 5,600
) 2992 9=k 210-01 |400,000¢ x5%3= 2,000
2) ofH] 2,250
71 Tjein) 220-01 |20,0009 x5 x 63]= 600
) Tujodn) 220-01 |40,0009 x5 x 33]= 600
oh E8]odn] 220-01 70,000 x5% x 33]= 1,050
2k A4S0 179479
1) FHe= 210—15 50,000 X 15F x 83]= 6,000
2) FA 7|4 210-09 |400,0009 X 10%= 4,000
3) FA71F 12,208
7hH =z ze) 430—01 340,000€ x4t)= 1,360
) o] S A2 A4 o) 430-01 590,000¢ x 2t]= 1,180
th 3| AN =& (FEY ) 430-01 |2,760,0009) x 2= 5,520
2h) 3| A A& (A a) 430-01 |2,990,000¢ x 1tj= 2,990
ul) A7) R W& 430—-01 187,000¢ x 2t]= 374
Hh A7)be m Nk 430-01 |400,000€ x 1t = 400
A - ForLEFTTALE - AF-IFLEAYD - FALFAES - AFALTA A 4/11




Abd Wi < A& AbE] 20179 (A) | 20169 (B)
AP A5 430-01 |384,0009 x 1dj= 384
4) A=1](LPG) 210-08 [4,2009 x260m' X129 = 13,104
5) Zkz] ) 210—02 20,0009 X 20E x8¥= 3,200
6) 2] A A 210—15 100,0009 x271= 200
7) <A wSn) 210-01 |40,00091 x 2 = 80
]) gJAYE 210-03 110,0009 x 674 x 23] = 1,320
9) GFARIZAN] 46,357
7h 78S 110-02 [1,787,6709x 129 = 21,453
) IERZH]| 110-02 |60,0009 x12¢¥= 720
h 7= 110-02 80,0009 x12¢¥= 960
EINIPARE Rist] Eat s 110-02 371,100 x4%7]= 1,485
u}) 9IRS 110-02 |50,0009 x12¢= 600
vh) 7|E B ad 110-02 |86,3609 x12¢€= 1,037
AP Az 110-02 67,6209 x 16 = 1,082
oh) AT 110-02 12,6709 X 64417k x10€ = 8,109
21 F21n] 110-02 [80,0009 x12¢¥= 960
2 A7) L5 110-02 |70,0009 x12¢¥= 840
7H A7 F 110-02 |250,0009 x 23] = 500
Eh) WA 110-02 500,000 x 23] = 1,000
¥}) ubE=3E 2 n) 110-02 [400,0009 x 1% = 400
3h &A= 320-04 3,273,210 x1%= 3,274
A) FUAF 320—04 38,745,6009 x4.5%= 1,744
Y) 2713 320-04 |38,745,600¢ x 3.06%= 1,186
) =97 8 oky 3 320—04 [1,186,0009 %6.55%= 78
) 78R3 320—04 38,745,6009 x1.5%= 582
™) AL R 320—04 38,475,6009 X0.9%= 347
10) Zg]FARARIZIR] 41,883
7h 7185 110-02 |1,601,1009 x 129 = 19,214
W) =gt 110-02 [11,8509 X644 7kx 109 = 7,584
oh) A7) A 110-02 1210,0009 x 128 = 2,520
2} WE R 2N 110-02 [60,0009 x12¢= 720
up) 7ESY 110-02 40,0009 x12¢9= 480
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713 s e et grdd (9] - A Q)
o A=)
wopvy S0 | 2R | AT Aripel %A% SESE 2017 (A) | 20166 (B) | S7(A-B)
np) Az}t 110-02 [63,2409 %19 = 1,202
AP gL 110-02 |50,0009 x12¢= 600
o) 211 110-02 [80,0009 x12¢¥= 960
) A7) Are] = 110-02 |250,0009 x 23] = 500
2} WA E ) 110—-02 |500,000¢ x 23] = 1,000
7} &3 E =) n) 110-02 |400,0009 x 13]= 400
EhH) H&F+ 320-04 3,165,280 x1%= 3,166
3 FydE 320—04 34,780,0009 X 4.5%= 1,566
3hH AR 320-04 [34,780,0009 X 3.06%= 1,065
A) =237 2ok 3 320—04 |1,065,0009 x6.55%= 70
Y) 78R3 320—04 34,780,0009 %X 1.5%= 522
o) Ak K3 320—04 34,780,00091 X 0.9%= 314
11) FARZA AN 49,533
7H 7183 (60A4)°]3}) 110-03 |1,601,1009 x 28 x 7Y = 22,416
) 7155 (60A41017) 110-03 [52,6309 %1% x 170 = 8,948
o) 2L HFFE 110-03 10,3409 x 37 X 3304 7k= 10,237
) WEH 2| 110-03 60,0009 x 2% x74= 840
wh) 7t 110-03 50,0009 x 29 x7¥ = 700
up) 9|3 LRk 110-03 [50,0009 x 2% x749= 700
AP F211] 110—-03 [80,0009 x 2% x74= 1,120
oh) == 320-05 |44,970,8609 X 4.5%= 2,024
) AZH 320-05 |44,970,860<¥ X 3.06%= 1,377
2P =917 Q0kR Y 320-05 [1,377,0009 X6.55%= 91
7hH 18513 320-05 |44,970,8609 x1.5%= 675
EP AkA| K3 320—05 44,970,8609 X 0.9%= 405
12) thA 1= 171H] 1594
7hH 71EF 110-03 [52,6309 x 1% x 304 = 1,579
h Ak R 3 320-05 |1,579,0009¥ X0.9%= 15
L] R T e i 66,765
1) gxtaely] 10,000
7H AA8E 210—15 [100,0009] X 10% x 33| = 3,000
W) AEFA e 210—15 100,000 X 5% x 43] = 2,000
W& - FOlREFTNE - AF-AFEFEAY - FRLEAEE - YA EAL 6/11




7187 AR Ee s i d (9] - )
o A=)
wopry 13 | 23| AT AERE ki SESE 20179 (A) | 2016W(B) | F4(A-B)
t}) GARISEE 210—15 |80,0009l X 5% x 129 = 4,800
2} 3] En 210-03 |200,0009 x 1= 200
2) gHm sz 23,510
7h 7185 110-02 |1,601,1009 x 1 x99 = 14,410
W) g 110-02 [9,880€ X 48417 x99 = 4,269
h Azt 110-02 52,7009 x 18 x 129 = 633
2 2= 320-04 12,233,100 x 1= 2,234
up) 2wl = 320-04 |19,312,0009 X 4.5%= 870
) A7 RS 320-04 |19,312,0009 X 3.06%= 591
AP 01 A7] Qo R F 320-04 |591,0009 % 6.55%= 39
o)) 1R 320-04 |19,312,0009 X 1.5%= 290
) A 1.8 320-04 |19,312,0009 X 0.9%= 174
3) MFAGFH R 210-09 1900,000¥ x12¥= 10,800
4) Agn(&FRAH) 210-08 |1,2239 %68 ¢ x270%= 22,455
vh =9 68,258
1) &58% 210-15 |120,0009 x 7% %8¢ = 6,720
2) HArgE 210-15 (50,0009 X 5% x84 = 2,000
3) g 210-08 |1,2239x92 ¢ x130%= 14,628
4) ¥]En) 210-03 |200,0009 x 1= 200
5) AAEFA BT 21,200
7H AN AR A K 210-09 |1,000,000¢ x 89= 8,000
) o 7| g-Ew A 210—-09 |5,200,000¢ x 18] = 5,200
) oA A GA| B2 210-09 |1,000,000¢ x 48] = 4,000
) Ry M 210-09 [4,000,0009 x 18] = 4,000
6) g st dzin 23,510
7h 7185 110-02 |1,601,1009 x 11 x99 = 14,410
W) 2y Raed 110-02 19,8809 x 4817k x9g= 4,269
oh Axpot 110-02 |52,7009x1% x12%= 633
2 B2 = 320-04 |2,233,1009 x 1= 2,234
n}) Zuled 2 320—04 |19,312,0009 X 4.5%= 870
v A7} R 320-04 |19,312,0009 X 3.06%= 591
AP 20147 Qo R 3 320-04 |591,000€ X 6.55%= 39
W - ol RFTNE - BF-SFEsAd - FHUSAEE - AFd s Ad 7/11




718 - AgpE ey Edardd (&9 - =)
= [e) 1=}
Bopnm f} Zﬁn ?};3 ﬂg NERE = A 20179 (A) | 2016¥(B) | Z7(A-B)
op) 1&HE 320-04 |19,312,0009 X 1.5%= 290
2p) AR B8 320-04 |19,312,0009 X0.9%= 174
Al FE L HAA 5,500
1) H2EEEHA L3R 210-02 |4,500,000€ x 1\d= 4,500
2) AP AEZE RS R 210-02 |1,000,0009 x 18] = 1,000
A1) 470,783 420,745 50,038
71 B89 77 470,783 420,745 50,038
712G 470,783 420,745 50,038
A&7 B9 470,783 420,745 50,038
1. 7| B F3AH) 85,330 79,462 5,868
7}, 7187 ol 7w 14,920
D) AAFIFFm] 7.800
7h 4% 250-02 |650,0009 %1% x129= 7,800
2) 71 #-L g F-F2n] 230-01 |6,000,000¢] X 17] %= 6,000
3) AU FF=701] 230-01 [40,0009 X289 = 1,120
L A 7] 229 78 70,410
D) F5E 98,788
7h 2ukg-on) 7,498
(1) FAer 210-01 |800,0004 X 13-4 = 800
(2) Ml 210—01 |394,0009 x17%= 6,698
) Ezualn) 210-05 |7,00091 X 157 X 73] x84 = 5,880
oh) H9-od = 7n] 230-01 |350,0009x129= 4,200
2} 1 odn) 15,810
(1) Z 220—01 20,0009 X179 x123]= 4,080
(2) = 220-01 |40,00091 %179 x1238]= 8,160
(3) 9] 220-01 |70,000€ X179 x33]= 3,570
u].) | xﬂlfﬁ zr A1 H] 5,400
(1) 7% 250—-02 |350,0009 %19 x129= 4,200
(2) 7% 250-02 100,0009 x 1% x12€= 1,200
2) A TS 31,622
71 A Hke-<dv] 5,134
(1) A 210-01 [800,0009 x 13-4 = 800
W - WA - V)RR - V)R] - A5 0ed 8/11




(9] - )

AF A= AEU 2017d(A) | 20169 (B) | FH(A-B)

(2) 7NA% 210-01 |394,0009x11%= 4,334
W} Ezujaly) 210—-05 |7,0009 x99 x 103] x 39 = 1,890
15 D R e e = ARE) 210-05 |3,2009 X 147 x 42 x 407) = 7,168
Zh) A9l =2n) 230-01 |250,0009 x12¢= 3,000
n}) =)o) 10,230
(1) I 220—-01 |20,0009 %117 x 1238 = 2,640
(2) = 220-01 40,0009 X114 x1238]= 5,280
(3) =9 220-01 |70,0009 X117 x 38]= 2,310
v 2 5] 320 4,200
(1) 7% 250-02 |350,0009 x 1% x12¢= 4,200

2. 71#L-9 A 385,453 341,283 44,170
7t FEa YL AA 127,066
1) A7|e & 210-02 |7,000,000¢ x 129 = 84,000
2) Azla =+ 210-02 |400,0009 %129 = 4,800
3) AtrEsw 210-02 [2,090,0009 x12¥= 25,080
4) SHe 210-02 11,0009 x129= 132
5 A= 210-02 |450,0009 x 129 = 5,400
6) IPTVFAI R 210-02 600,000 x12€= 7,200
7) AN R ZRE 7 210-02 15,0009 x 6= 90
8) 93 = uulalvha] 2} 5] n) 210-02 |100,000¢1 % 13]= 100
9) AEZWASF5E 210-02 |22,0009 x129= 264
L. AR 84,930
1) AWAE A H 8 210-13 200,000 x12¢¥= 2,400
2) Belg g 210-13 10,0009 X 239 x 28] = 4,780
3) A7) ATAE A LA 210—-13 |500,0009 x129= 6,000
4) AFE A A LA 210-13 |150,0009 x 129 = 1,800
5) WA E k] 8o 210-13 |110,0009 x12€= 1,320
6) 77|k Ba] 4 4o 210-13 [150,0009 x 2t x 12€ = 3,600
7) SN AR 210-01 [150,0009 X 2] x 18] = 300
8) AslxgA g 210-13 |350,0009 x 129 = 4,200
9) AR 71 B LE 210-01 |15,0009 x13%x129= 2,340
10) 3hg2ve 6,450
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g R I R (2e] : A )
)] [e) )=}
wopvy S0 | 2R | AT Aripel %A% AU 2017 (A) | 20166 (B) | S7(A-B)
7hH 2 H 7 BT 210—15 65049 x3,000%= 1,950
W AAEE 210-15 |30,0009 x15% % 1038]= 4,500
11) 4 d#e 4,500
7hH ALY LFE 210—15 [30,00091 X 10%x153]= 4,500
12) H A8 210—13 47,240,000 x 12]= 47,240
T}, A] A A B]-8-X] BS5H] 73,175
1) 71 A A &g 210—09 [1,500,000€9 %1038 = 15,000
2) ool AL A A EN Y82 72 210-09 80,0009 X 707 4= 5,600
3) A Y7 A 210-09 65,0009 X 70t]= 4,550
4) =6 T 210-09 500,0009 X538 = 2,500
5 d3zHx 210-09 [15,0009 X95E x13]= 1,425
6) ZHbAdn] g2 7 210—09 800,000¢ x 65 = 4,800
7) Rt AAA R 210-01 |200,000¢ x 23] = 400
]) EVEH-A T 210-09 300,000¢ X108 = 3,000
9) ﬂ]okoﬂél#ﬂvx]ﬂra 210-09 700,0009 x 23] = 1,400
10) A7IA 2GR =g 210—09 500,0009 X 63 = 3,000
11) @A 7) 6= 2 210-09 1,000,000¢ x 23] = 2,000
12) 7| EA D82 210—01 500,0009 x 48] = 2,000
13) HAA G Tz 210-09 500,000¢ x 43 = 2,000
14) HAAA71A7A 210—09 1,500,0009 % 13]= 1,500
15) 955+ #2 210-09 500,000¢ x 43 = 2,000
16) ¥<2n])-8-2) ) 210—09 500,0009 x 48] = 2,000
17) CCTVA =37 210-09 2,000,0004¢ x 10t]= 20,000
oh, ARk 7 H] 8,560
1) o] 210-03 250,0009 x 87 x 23] = 4,000
2) 2o 3} 210—03 120,000 x 8% x13]= 960
3) A #8927 210—15 300,0009 x12¢= 3,600
nt, g2 e 24,650
1) 998= 210—15 90,0009 x5%&= 450
2) FATE 24,200
7hH 4= 210-06 [50,0009 X198 x119U= 5,950
) == 210-06 50,0009 X194 x365% = 18,250
W - wSARE - VR He - VEegn] - A7 HRd 10/11




<

7)ghy At e st E Y (he] - 29)
= > H
wopvy S0 | 2R | AT NERE 2 4% Ao} 2017d(A) | 2016W(B) | Z%(A-B)
uf A 19,072
1) 5354 (15,000kmol]) 210-10 |5,813,0009 X 1tj= 5,813
2) T8 5% (15,000kme]”’d) 210-10 |9,259,000€ x 1th= 9,259
Ab A S ) 52,000
1) AR 71 8,850
7h 24 430-01 |250,00091 X 5t} = 1,250
W) wER 430-01 |1,300,0004 x 1= 1,300
h LA-lAE 430—-01 6,300,0009 x 14| E= 6,300
2) A AnE 43,150
7h ¥ 430-01 |600,000¢1 % 3t)= 1,800
) wlolz1 430-01 |150,0009 x 2t)= 300
oh) W) () 430-01 |2,800,000¢ % 1t} = 2,800
2 TV () 430-01 |500,0009 x 3t = 1,500
op) A7) () 430-01 |385,0009 x 4t)= 1,540
uh) A7) (g 430-01 |440,0009 X 4t)= 1,760
AP ARA A (A& 430-01 |360,0009 x5t]= 1,800
o}) HekPrrE 430-01 |6,000,000¢ x 5t} = 30,000
PO EN 430-01 |550,0009 x 3tj= 1,650
W = AEHANE = 7RG - V) Edn] - AE7HD 11/11




